4( Convert to/from a number up to hundreds )7

Convert

Three hundred twenty - two =

4 hundreds + O ten + 9 ones =

ine hundred fifty - seven =

hundreds + 5 tens + 9 ones =

hundreds + O ten' + 1 ones =

Thirty - six =

7 hundreds + 5 tens + 2 ones =

Six hundred fifty - two =

7 hundreds + 1 ten + 5 ones =
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Convert to/from a number up to hundreds 1

Convert

1. Three hundred twenty - two =

irst, convert the word number to digit

Three hundred twenty - two = 322

ow, solve using a place value char

H T So, three hundred twenty - two = 3 hundred + 2 tens + 2 ones = 322

2 4 hundreds + O ten + 9 ones =

Use a place value chart to solve this

H T O 0, 4 hundred + ten + 9ones = 409

Vi Q) 9
3 ine hundred fifty - seven = undreds + 5 tens|/+ |7 ones
4 hundreds + 5 tens + 9 ones = 259
5 hundreds + tens + 1 ones = 80

6. Thirty -six = O hundred + |3 tens + 6 ones
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